
 
 

English Grammar – Grammar Specific 2 
 

Write the number of the correct answer in the brackets.  

 

            
1. The police are taking a tough stand ________ reckless drivers. 

 
(1) on (3) against 

  
 

(2) to (4) toward ( ) 
  

      
2.  A kilogram of feather is as ________ as a kilogram of steel.  

 
(1)  heavy  (3)  heavier  

  
 

(2) heaviest  (4)  lighter  ( ) 
  

      
3.  The water in the drain will flow ________ the canal.  

 
(1)  from  (3)  in  

  
 

(2) through  (4)  into  ( ) 
  

      
4.  The children were singing ________ happily when I left them.  

 
(1)  about  (3)  over  

  
 

(2) away  (4)  above  ( ) 
  

      
5.  The father has lost his job and now they're struggling to make ends ________.  

 
(1)  join  (3)  cut  

  
 

(2) break  (4)  meet  ( ) 
  

      
6.  You must grow ________ the habit of biting your nails. It is not a good habit.  

 
(1)  up of  (3)  out of  

  
 

(2) away from  (4)  up with  ( ) 
  

      
7.  Each of the men ________ a house in this estate.  

 
(1)  own  (3)  owns  

  
 

(2) owned  (4)  are owing  ( ) 
  

      
8.  Where ________ we go to celebrate your success?  

 
(1)  must  (3)  have  

  
 

(2) need  (4)  shall  ( ) 
  

      
9.  The teacher is very patient. She has _________ over the sum many times because the 

class couldn't understand the solution.  

 
(1) been  (3)  gone  

  
 

(2) written  (4)  explained  ( ) 
  

      
10. These chairs ________ first thing tomorrow. 

 
(1) are removed (3) are removing 

  
 

(2) will be removed (4) to be removed ( ) 
 


